T %= 4

s

ZE R - TSR ST

1t

.4|||'|T|

T
P=ii



ZERE i 22 - A E R F

£ 5 £

N o e ¥ 4 R AL & & o (1) i i1
DTk 5 RIS == 22 3% 78T = 1
@ BRER = R 22 3Rk 5 5T = 1
@AR =V1p-BRIE(E s == 22 TRk 5 5T = 1
@ VE B R TR =8 22 3R T = 1
(B TN [ BR A 70 1 =8 Z2 G 58 8T = 1
O B 12 [ BR A 70 1 =8 22 R 58 8T = 1
(DY 7 Rl B A 28 22 i o = 1
®HN BB B Pl U 5 = 1
@) N BRIEAE g == Pl U 5 = 1
0K 5 BRIE(E FE o =5 el g = 1
ADVE T R {3 H o =5 HE VRS 58 = 1
(RN = 1

THETE ) L — S



E (2)

E % 4 W HiL | # & 6o # (M) 14 B
S ek # 7\ 1
T 2 2y 1
B 2V 1
U ¥ 1
— i P ¥ 1
T =S E2V 1

TERTE / L— A att



TR RIS 25 72 SR i 58T ( 3)
Za P I 7 NI N 7 HAL [ % & B () & F (H) i 2
@© | THEBRRES == 22 T 6% 58T
(B EHE)
RKABLT a2 3 FH200V 2.585 7] = 1
IR 15.9¢ X9.5¢ m 29
BERR Lk Fa\ 1
R L Bl kA = 1
AN
(T #5 %)
kTR = 1
PR a S L% A L 20 1
W U RE TR = 1
RIE THE = 1
NEE T 5% =X 1
BEIR T HE =X 1
N

TERTE / L— A att



T BRI 5227

2 T ST
Zd P I 7 NI N 7 WAL | % & B () & F (H) i
(Z DAth)
PO IR R A 42 - PE PR AL 53 = 1
A2 I T A = 1
N FE
& &t




HIE BRI R = 2 i S ( 5)
Za P I 7 NI N 7 HAL [ % & B () & F (H) i 2
@ | EBE IR == 22 6% 58T
(B EHE)
RKugLT a2 HFH200V 1. 8557 = 1
IR 15.9¢ X9.5¢ m 15
BERR Lk Fa\ 1
R L Bl kA 20 1
FIohA s T L— E2V 1
NF
(T H5 %)
kTR = 1
A TR EaSGL A ki = 1
W U RE TR = 1
RIE THE = 1
NEE T 5% =X 1
CER/ TS = 1
INFE

TERTE / L— A att



A ERIBR = 58 22 A BT

4 PR i N B~ WAL | # & B (M) 4 (M) i
(Z Dfth)
P BRETET AN A I - PE B ALy B = 1
A2 e B =X 1
N
& &t

T T L— RS 4



AR =0t p- O3 e 2R 2 R BT (7))
Zd P I 7 NI N 7 WAL | % & B () & F (H) i 2
@ | A b - e g e A FT
(B EHE)
KTy 2 3 FH200V 2. 5557 =
I B A E20
BERR Lk 20
R L Rl E20
/N B
(T H5 %)
I 20
A TR SEEHE S 20
W U RE TR 20
RIE THE 20
N T HE 20
ER T 20
INFE

T T L— RS 4



AR = B BROE S e 5 22 A ST

4 PR i N B~ WAL | # & B (M) 4 (M) i
(Z Dfth)
P BRETET AN A I - PE B ALy B = 1
A2 e B =X 1
N
& &t

TERTE / L— A att



VB BRI Te i =8 22 R 58T (9)
Zd P I 7 NI N 7 WAL | % & B () & F (H) i P2

VBB BRI 50 % =5 22 T A ST

(B EHE)

BERE T 2 HFH200V  1.555 7 = 1

IR 12.7¢ X6.3¢ m 20

BERR Lk Fa\ 1

R L Bl kA = 1

R R E A 2V 1

r—7 ) CV3. 5SQ-4C m 25

FICBH PR T =5 Fa\ 1

N

(%5 %)

kTR E20 1

PR TR SEEHE S = 1

W U RE TR F2V 1

fRiR T 5% = 1

PUdE T2 F2V 1

CER N g = 1

N

TERTE / L— A att



L.
RYA

HRIR IS Tl == 22 R B 5

(
Zd P I 7 NI N 7 WAL | % & B () & F (H) i
(Z DAth)
PO IR R A 42 - PE PR AL 53 = 1
A2 I T A = 1
N FE
& &t

T T L— RS 4



4 P i NI S ¢ S HAL | % = HoAG (F) & (1) ] P2
® | TSI = 2 T
(B EHE)
BERE =7 =2 HFH200V  1.555 7 = 1
IR 12.7¢ X6.3¢ m 25
BRI Fa\ 1
R L Bl kA = 1
F7uhA P as T L= — X 1
NEE
(%)
WMETHEE =X 1
PR TR REEE S F2V 1
Wi R LU TR # 1
(RIE T HE # 1
NEE T 5% =X 1
CER/ N =X 1
AN

T T L— RS 4



O = 2 s T (
Zd P I 7 NI N 7 WAL | % & B () & F (H) i
(Z DAth)
PO IR R A 42 - PE PR AL 53 = 1
A2 I T A = 1
N FE
& &t

TERTE / L— A att



B[] BR O T == 22 i S

4 P i /N R 7 5 HAL | % = HoAG (F) & (1) ] e
© | BB ER A e R 2 ST

(B EHE)

KAty NE=T 2 3 fH200V  2.8kw 157H] = 1
eV (%) BC40J-WF e 1
A4 KSR IL (%) KDB997A41 He 1
YIRS # 1
BE St/ 2V 1
R L Bl kA = 1
R E A 2y 1
lr—7 CV3. 5SQ-4C m 25
Foob P T 2 1

NF

(5% #)

WMETHEE E20 1
A L& [ESU Tk 7\ 1
W U UEE T E = 1
fRiE T2 =X 1
PUAE T2 FaV 1

T T L— RS 4



B[ BRI e ik == 22

AR 52 8T 14
4 B 7R TN ik HAL | % & Hofm (M) 4 Fa ([) T G2
ER T H2 B2V 1
NF
(£ Dfth)
0 B ] U 3 - PEFE AL ) By B 1
A2 1 TR iy 1
/N B
& F

TEETHE ) L — AR



VR RIS R A 8 2 ol s ST (15 )
Zd P I 7 NI N 7 WAL | % & B () & F (H) i P2

@ | BT AR R R

(B EHE)

KAV A =T av 3 ¥H200V 6. 055 7] = 1

FIMETR D TITRE 7\ 1

i L) F2V 1

XFieiA =\ 1

R L Bl kA = 1

R R E A =\ 1

r—7 ) CV5. 5SQ-4C m 12

FICBH PR T =5 Fa\ 1

N

TERTE / L— A att



VAL T RIS R A 2 A BT (16 )
Zd P i NI S ¢ S WAL | % & B () & F (H) i P2
(T %5 #¢)
kTR = 1
A L& [ESU Tk 7\ 1
W N LR TR F2y 1
(RIE T F F2V 1
NEE T =X 1
B T =X 1
NF
(% DOAth)
PO IR R A 32 - P PR AL 53 = 1
SGIRCEETIS E20 1
AN
& F

TERTE / L— A att



A

=]

R 5 = Pl R ST
Za

PR Vi 7 NI B HANZ B (M)
® | HEBREE U R U BT
(ML)
PER 7 7 (£2%)21/2SRM4 3 4H200V 1.5Kw | 7
H—F (%) TY6300Z1000 =)
F ¥ LS AT A R [
NEE
(G #)
L T HE A
i R % g A
X2 N T HE A
CER] B X N
NFE
(& DAh)
PEREAL 5 He X
AR A =
N
B F

T T L— RS 4



RN RGER A 1 = Bl VR 58T (18 )
Zd P i NI S ¢ S HLAL B () (1) i P2
@ | FUNBRGEAE s 2 28 Bl RV 58 7
(B EHE)
> 7 v (23#)BG-30TR 3 4200V =
¥y N AT+ P i
/N B
(%5 %)
WETER 20
P TR =
H7 N THE 20
ER T 20
NF
(ZDfh)
PEFEIL 3 20
A2 e B =
N E
& G

TERTE / L— A att



K BRE e == Pl VB ST

4 PR Vi 7 NI B HAL | B &= B (M) (M) 14 B
O | REGUBIE == R T

(ML)

HER 7 7 > (%) 11/2SRM4 3 4H200V  0.4Kw | 7

P—F (£23) TY6300Z1000 =

F ¥ LS AT A R i
AN

(G #)

L T HE F2V

i R % g F2V

X2 N T HE F2V

CER] B X X
NFE

(& DAh)

PEREAL 5 He =)

AR A F2V
N
B F

T T L— RS 4



VEELER BRI 15 s 25 R IRV B8 (20 )
4 PF FIZ2 /NI N = HAL | # = Bl (F9) @ # (1) 14 L2
@ | fEEEEGE(E e o B R BT
(ML)
HER 7 7 (Z%)11/25RM4 340200V 0.4Kw | 13
P—F (£35)TY6300Z1000 =
F v LN AT 1E
AN
(G #)
WETEE X
P TR X
X7 TR X
BT EE E2V
AN
(ZDfh)
PEFEAL G #e E2V
A2 e X
N FE
B F

T T L— RS 4




